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- Unit 3: Modeling and Anolyzlngéuadmﬂc Functions REVIEW
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é. Create a function that has its vertex below the x-axis.
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Write the equation for the following functions in standard form e
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Given the following graph, which equation represents .
the graph after it has been shifted 2 units to the right ' -
and 2 units down

Write the equation of a quadratic equation that has been transt ymed fron
the parent function f(x) = x? with a narrowing by a factor of 7
right of 10 units and down 2 units
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Which best describes the solutions of the quadratic function F(x)=4x*10
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|2 What are the zeros of the following equation ax? - 24x7 -108x = 0
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4. Describe and correct the error in solving the following equations:
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15. Describe and correct the error in solving the followi ti ' . &
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16.Describe and correct the error in solving the following equation by square roofs.
3X2-7x-6

X 2x2 - 33 =39 .
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17) Given the graph below answer the following questions:

Q) Vertex: H-: 4 l\
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D) Axis of Symmetry: X2

c)leros: XR.p X¥ !.3

d) Y-intercept: (L. \\

e) Interval of Decrease: L 2 2 3 ) I G Bl
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18)Create a quadratic equation meets the following criteria (Your answer must be written in
either vertex form or standard form)
~ Must have 2 solutions

~The Axis of Symmetry must be greater than -1 | v clerresc:.
~The equation must be decreasing to the right of the axis of symmetry | / 1\‘ P o
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